FS/5 6
Manual

Benutzerinformation
Fluid Head

Fluidkopf

sachtler



© by sachtler®. Alle Rechte vorbehalten / Al rights reserved

Originalbetriebsanleitung/Original User Manual

Version: 2.3/12/13 c €
Ausgabedatum / Issue date: 12/13

Bestellnr. / Order no.: S2001-4980

sachtler®
Vitec Group Videocom Division

www.vitecgroup.com

Erfurter Strasse 16 Postfach / P.O.BOX 2039
D-85386 Eching D-85380 Eching
Germany Germany

Telefon: (+49 89) 321 58 200

Telefax: (+49 89) 321 58 227

E-Mail: contact@sachtler.de

Internet: http://www.sachtler.com



FSB 6

Table of contents

Safety instructions / General Information...............
Operating elements..........cccoeiiiiiiiiiicee e,

Operation...........cceeiiiee e
3.1 Intended USEe ........ccoeiiviiiiiiiii e
3.2 Moving of the pan bar........ccc.cccooovviiieiinnnnn,
3.3 Levelling of the fluid head...................cco...
3.4 Mounting of the camera and / or plate...........
3.5 Counterbalancing of the camera....................
3.6 Settingofthedrag...........cooovvveiiiiiii s
3.7 BraKes ....cooooieiiiiiiiiieiii e
3.8 Change of battery ............cceiiiiiiiiis

3.9 Transport setting of drag, counterbalance

aNd Drakes ...
310 FlatBase Mount.......c.cooeeeiiiiieeeeee

Technical Data..........ccoeeeeee e

A CCESSOMIBS ..
51 Cameraplates......ccccorriiiiiiiiiiiiiieeeeeeeeeeiens
5.2 Pan bars.....oo e

Inspection & Cleaning ........cccooeeviieiiiiiiiiiiiiccieeen

Warranty ..o

sachtler



FSB 6

Inhaltsverzeichnis
1 Sicherheitshinweise / Grundlegende Hinweise................... 11
2 Bedienelemente ... 12
3 Betrieb . 13
3.1 Bestimmungsgemalie Verwendung .............ccccuunn.... 13
3.2 Schwenkarmverstellung ..........cccoooviiiiiiiiiiiiici. 13
3.3 Nivellieren des Fluidkopfes ........ccoovvviiiiiiiiiiieeiiiene, 14
3.4 Entnehmen und Einsetzen der Kameraplatte............. 14
3.5 Einstellen der Kamerabalance............c.......cccoee 16
3.6 Einstellen der Dampfung........cccccoooeeiiiiiiiiiiiii 17
3.7 BIremMSEN ... 17
3.8 Austausch der Batterie..........cccccceevieveeiiiiiiii 17
3.9 Transportstellung von Dampfung, Gewichtsaus-
gleich und Bremsen ...........ccooiiiiiiiiiiiiic e 18
3.10 Flachboden ... 18
4 Technische Daten.........cccoooviiiiiiiiii e 19
5 ZUDERNOI ... - 20
5.1 Kameraplatten.........ccooooiiiii 20
5.2 Schwenkarme ..........cooooiiiiiiiiiiiiee e 21
6 Inspektion & Pflege ......coooeeeeiiiiii e 22
7 Gewahrleistung .......oouvueeiiiiie e 22
S

sachtler



d __V VITEC Videocom

EC - Declaration of Conformity

EG - Konformitatserklarung

Here we declare that this product complies with the requirements of the applied
directives, standards and regulations for safety and health, if used for its intended

application.

This declaration becomes invalid, if any changes have been made without our

agreement.

Hiermit erklaren wir, dass das hier genannte Produkt aufgrund seiner Bauart in
der von uns in Verkehr gebrachten Ausfiihrung den Sicherheits- und Gesundheits-
anforderungen der zugrundeliegenden hier genannten EG - Richtlinien und der

genannten Normen entspricht.

Bei einer nicht mit uns abgestimmten Anderung an diesem Produkt verliert diese

Erklarung ihre Gultigkeit.

Product / Produkt:

Components / Komponenten:

Code number (s) / Codenummer(n):

Year of first manufacturing / Ab Baujahr:

EC - Directives: 2004/108/EG
EG - Richtlinien:

Standards and Regulations:
Normen und Vorschriften:

Inspector / Prifstelle:

Date of Inspection / Prifdatum:

Eching, 08.11.2012

L
’ Vitec Videocom
‘ AVites Group div

sachtler

FSB 6, FSB 6T

0407, 0405
2007

Electromagnetic Compatibility /
Elektromagnetische Vertraglichkeit

EN 55103-1:2006-07
EN 55103-2:2006-07

Vitec Videocom GmbH

2010-06

Alan Platt

"'_\_ f -
R&D Director (()l\ O \ (it

.-/

Vitec Videocom GmbH
Headquarers

Erfurter Stralte 16
85386 Eching
Germany

T +49 89 321 58 200
F +49 89 321 58 227
info@vitecvideocom.com
www.vitecvideocom.com

Bags

Pelrol Bags

Camera accessories
OConnor
Equipment rentals UK
The Camera Store
Lighting
Anton/Bauer
Litepanels

Sachtler

Mabile power
Anton/Bauer
Promplers
Autoscript

Supports

OConnor

Sachller

Vinten

Vinten Radamec

A divisicn of The Vites Group ple
Registered office
ouse, Heron Square

Wd TWS 1EN
United Kingdom
Registered in England no 227691



FSB 6 Manual

1 Safety instructions / General Information

-> Before using the fluid head read the manual.

-> Before mounting the fluid head on the tripod, check if the tri-
pod has a safe standing and if the tripod leg extensions are
clamped.

-> Before releasing the clamping screw on the fluid head (with
a mounted camera), the tripod must be secured against fall
over.

-> Before releasing the vertical brake (at a non balanced
camera set up) or the clamping of the camera-/balance plate
the camera must be secured against sudden movement,
otherwise there may be a danger of finger trapping.

-> During camera tilt movements with extreme tilt angles there
may be a danger of finger trapping between top-/balance
plate and housing for users and third persons.

= .

sachtler



Manual FSB 6

2 Operating elements

A. FSB 6 with sideload-plate

Camera

Top plate / olate

o — — — — —
 ——————

Camera Release
Safety Lock

Parking position

=
S
»

N

for camera screws ) = Rosette for
not in use \ Y

////W\\\® pan bar

I

Clamping ;@_ . Vertical setting of fluid
screw 7™ drag
Or c;amera ) Counterbalance
plate ° adjustment

j\ Bubble

=

0000, 000
C 4 il

— . 7 v

,&
Horizontal setting of fluid drag

Vertical brake

Battery compartment

Horizontal brake

E

sachtler



FSB 6

Manual

B. FSB 6 T - FSB 6 with Touch & Go plate

__——— Camera-

plate
___Lever
Balance plate Locking of
(clamping of the Touch & Go
balance plate System
backside)
Camera Release
Safety Lock of Touch
& Go System
3 Operation
3.1 Intended Use

3.2

This fluid head was developed to enable pan- and tilt
movements of cameras. The maximum payload is specified
in chapter 4.

Moving of the pan bar

Open the clamping screw (black wing screw) of the pan bar
and move the pan bar into the desired position. Close the
clamping screw of the pan bar. During transportation the
pan bar can be moved next to the tripod legs.

Caution: Open the clamping screw of the pan bar far
enough. The teeth of the pan bar clamp should not clatter
while moving the pan bar. However, a plastic protector pre-
vents against wear of the metal toothed ring. Make sure
that the teeth interleave with each other when closing the
clamping lever of the pan bar.

Use of the enclosed pan bar on the left side of the fluid
head is also possible. The pan bar has to be removed from
the head and the black plastic cap on its top should be
opened and removed with a coin or screw driver. The too-
thed clamp should be removed and relocated. The plastic
cap needs to be tightened again.

@ 5

sachtler



Manual

FSB 6

3.3

3.4

Levelling of the fluid head

Apply the vertical brake and hold the camera with one
hand. Open the clamping screw of the fluid head and move
the head in such a way, that the bubble moves into the
level’s black circle. Tighten the clamping screw firmly.

Touch Bubble

The FSB 6 has a self illuminating Touch Bubble which allo-
ws easy levelling even under unfavourable lighting conditi-
ons. The illumination is activated by strong tapping on the
bubble. The bubble will glow up to 20 seconds.

Mounting of the camera and/or plate

A. FSB 6 with side load clamping mechanism

-> Apply the horizontal and vertical brake.

-> Hold the camera and/or plate with one hand.

-> Release the clamping screw of camera plate.

-> Shift the red Camera Release Safety Lock forward.

-> The camera(plate) is now unlocked and can be remo-
ved from the fluid head.

-> Attach the camera plate to the camera. Please pay
attention to the arrow on the camera plate.This arrow is
indicating the direction of the lens. (Also see paragraph
5.1 “camera plates”).

-> For mounting the camera(plate) onto the fluid head
place the camera plate’s dovetail in the dovetail’s gui-
ding on the head (see picture below, arrow A).

-> Lower the camera(plate) until the snap lock catches the
camera plate. This is detected by an audible clicking
(arrow B).

-> The camera(plate) is now mounted securely.

-> Lock the clamping screw of the camera plate after
counterbalancing the camera (see also paragraph 3.4
“counterbalancing the camera”).

E

sachtler



FSB 6 Manual

B. FSB 6 with Touch & Go camera quick locking system
-> Apply the horizontal and vertical brake.
-> Hold the camera and/or plate with one hand.

-> Grasp the locking lever with your thumb and index finger and
pull down the red safety button.

-> Move the locking lever as far as possible to the left and take
out the camera and/or plate.

-> Attach the camera plate to the camera.

-> By mounting the camera and/or plate again it will lock auto-
matically and the locking lever will snap back audibly into its
initial position.

sachtler



Manual

FSB 6

3.5 Counterbalancing of the camera

3.6

->

Before adjusting the counterbalance of the camera, the
center of gravity of the camera must be centered preci-
sely over the axis of the fluid head.

Lock the vertical brake, adjust the vertical setting of the
fluid drag to “0” and adjust the knob for the counterba-

lance setting also to “0”.

Secure the camera with one hand and open the
vertical brake.

Should the camera be front or back heavy open the
lock of the camera plate/balance plate (undo red wing
screw slightly on the side of the fluid head; keep the
camera secured with one hand). Centre the camera
weight and compensate for a backheavy setup by sli-
ding the camera plate/balance plate forwards and for a
frontheavy setup by sliding backwards. The camera
should remain in the horizontal position.

Lock the camera plate/balance plate by turning the red
wing screw clockwise and tighten it.

If you can’t manage to centre the camera correctly,
please read paragraph 5.1 “Camera plates”.

The fluid head FSB 6 is equipped with a ten step coun-
terbalance adjustment. Select the setting which com-
pensates best with your camera set up. Adjusting the
lower setting comes immediately effective. The adjust-
ment of the higher setting becomes effective after pas-
sing the “0” level while tilting the fluid head.

Setting of the drag

The FSB 6 is equipped with a 3-step drag level horizontally
and vertically and a zero setting. By turning the vertical
setting and the horizontal setting the desired level of fluid
drag is selected. Turn the setting ring to "0" in

E

sachtler



FSB 6

Manual

3.7

3.8

3.9

order to switch off the drag completely.

The different drag levels can only be felt if the horizontal and
vertical brakes are open. If you apply drag, the degree of hori-
zontal and vertical drag is identical and thus enables precise
diagonal panning movements without jerks and vibrations.
Make sure that you always turn the setting to the next indexed
position. Engage the retainer pins by slowly panning or tilting
the camera.

ATTENTION:
Panning or tilting the camera with settings between the
indexed positions can damage the retainer pins and/or disks.

Brakes

The horizontal brake applies the lock for the pan and the verti-
cal brake for the tilt movement. Both brakes are free off vibra-
tions and can be used during shooting.

Change of the battery

The illumination is powered by one standard type button cell
(CR 2032, 3 V) located in the battery holder, which can be
opened with a sharp object such as a screwdriver.

Make sure to insert the new batteries according to the “plus”
symbol as indicated in the covering plate.

The battery last for about 2000 illumination cycles.

Transport setting of drag, counterbalance
and brakes

To ensure smooth operation of the setting rings for the drag
over the long life time period of the fluid head, you should
turn both setting rings from position “0” to maximum positi-
on, before and after the use of the fliud head.

Setting during transportation: the most important issue is to
open both brakes -horizontal and vertical. Counterbalance and
drag should be set to maximum position.

= .

sachtler



Manual FSB 6

3.10 Flat Base Mount

If you want to fit the FSB 6
- onto on a flat base, remove
the threaded pin.

4 Technical Data

Payload Range (depending on C.O.G height of the camera)

[C.0.G. (Center of gra- min. kg/lbs max. kg/lbs
vity height in mm)
55 1.5/3.3 8.0/17.6
75 1.3/2.9 6.9/15.3
100 1.1/2.4 5.9/13.0
FSB 6 FSB6T
Grades of drag: 3 horizontally, 3 horizontally,
vertically and 0 vertically and 0
Tilt angle: +90°/-75° +90°/-70°
Temperature range: -40°C (- 40°F) to -40°C (- 40°F) to
60°C (140°F) 60°C (140°F)
Weight: 2.6 kg/ 5.7 Ibs 2.7 kg/5.9 Ibs
Camera plate/
sliding range: 120 mm/4.7 in 60 mm/2.4 in
Camera fitting: camera plate with pin,
1/4* and 3/8" screw
Tripod fitting: 75 mm bowl
Pan bar: single (pan bar DV #0992SP),

diameter 16 / 28 mm (0.63 in/1.1 in)
length 430 mm (16.9 in)

E

sachtler




FSB 6

Manual

5 Accessories

5.1 Camera plate

A. Sideload

The fluid head FSB 6 is delivered with an extra long came-
ra plate (code no. 0164). It containes a guided sled with a
pin (preventing a twisting of the camera) and a 1/4 “ screw.
The guided sled can be brought in a position to eliminate
any front- or back heaviness of the camera.

By locking the 1/4” screw in the thread of the camera, the
desired position will be fixed.

Please pay attention to the arrow on the camera plate,
which is indicating the direction of the camera lens.

If your camera was delivered with a tripod adapter plate
you may need 1/4" and 3/8" screws to mount your camera.
Remove the guided sled, by unlocking the 1/4” screw. Use
the 1/4” and 3/8” screw (parking position below the top
plate) to mount your camera on the camera plate.

B. Touch & Go

The fluid head FSB 6 T is delivered with the Touch & Go
plate S (Code N0.0364). It comes with a pin, 1/4” screw
and 3/8” screw, means the cameraplate is ready to use it
either with a pin - 1/4” screw connection or a 1/4” screw -
3/8” screw connection. Just unscrew the not needed screw
from the camera plate. Spare camera screws are stored in
the balance plate.

If your camera remains front- or back heavy after going
through the necessary centring procedure (paragraph 3.4)
you may solve this by using the C.0.G plate DV

(Code No. 1465). This plate offers you two removed positi-
ons (by about 44 and 72 mm resp.) to receive the camera.

= ..

sachtler



Manual FSB 6

The C.0.G plate DV can be mounted removed to either
the front or the back. It comes with 1/4” screw and pin.
5.2 Pan bars

The fluid head FSB 6 comes with a single pan bar DV.
There is a fixing for an additional pan bar on the fluid
head. Please order code no. 0992SP for 2nd pan bar.

6 Inspection & Cleaning

Clean your fluid head regularly using a soft cloth and mild
detergent.

7 Warranty
The warranty expires if

-> the fluid head was operated improperly or not in line with
the specified technical data, or

-> the head housing was opened by unauthorised personnel.

We reserve the right to make changes based on technical
advances.

Please register at www.sachtler.com for an extended warranty
period.

-10- @

sachtler



FSB 6 Benutzerinformation

1

Sicherheitshinweise / Grundlegende Hinweise

-> Vor Benutzung des Fluidkopfes mul3 die Benutzerinformation
gelesen werden.

-> Vor Montage des Fluidkopfes auf ein Stativ mul3 das Stativ
auf sicheren Stand und die Stativbeinausziige auf sichere
Klemmung dberpriift werden.

-> Vor Lésen der Klemmschale, mul3 das Stativ bei aufgesetz-
ter Kamera gegen Umkippen gesichert werden.

-> Vor Lésen der Vertikalbremse (bei noch nicht eingestellter
Kamerabalance)oder der Klemmung der Kamera-/Balance-
platte mul’ die Kamera gegen plotzliche Bewegung gesichert
sein, da sonst die Gefahr des Fingereinklemmens besteht.

-> Bei Kameraschwenks mit extremen Neigewinkeln besteht fiir
den Bediener oder Dritte die Gefahr sich die Finger zwi-
schen Top-/Balanceplatte und Gehéduse zu klemmen.

@ -11-

sachtler



Benutzerinformation FSB 6

2 Bedienelemente

A. FSB 6 mit Side Load

Top

Platte Kameraplatte

_—

Verriegelungshebel

L
Parkposition ftr
nicht bendtigte /
Kamera
Schrauben

Rosette flr
Schwenkarm-
befestigung

Steuerring der
Klemmung der Vertikaldampfung

Kameraplatte

Drehknopf zum
o Einstellen der
Vertikalbremse — Kamerabalance

Batteriefach ©

U Libelle

/; U U — Steuerring der

Horizontalbremse Horizontaldampfung

sachtler



FSB 6

Benutzerinformation

Balance Platte

B. FSB 6 T - FSB 6 mit Touch & Go

Kameraplatte

| [
) hebel der

(Klemmung der Touch & Go

Balance Platte Klemmung

auf der

Ruckseite)
Sperrknopf der Touch &
Go Klemmung

3 Betrieb
3.1 BestimmungsgemalRe Verwendung

3.2

Der Fluidkopf wurde fur Schwenk- und Neigebewegungen von
Kameras entwickelt. Die maximale Traglast ist in Kapitel 4 spezifi
Ziert.

Schwenkarmverstellung

Lésen Sie die Klemmschraube (grof3e schwarze Fligelschraube)
des Schwenkarms und bringen Sie den Schwenkarm in die
gewulnschte Position. Schliellen Sie die Klemmschraube des
Schwenkarms. Fur den Transport kann der Schwenkarm an die
Stativbeine geschwenkt werden.

Achtung: L6sen Sie die Klemmschraube des Schwenkarms weit
genug. Die Zahnkranze der Schwenkarmanlenkung sollten beim
Verstellen kein Rattern verursachen. Ein Plastikzahnkranz schitzt
vor Verschleil der Metallzahnkranze. Achten Sie darauf, daf® beim
Klemmen des Schwenkarms die Verzahnungen bundig ineinander
greifen.

Wollen Sie den mitgelieferten Schwenkarm auf der linken Seite
des Fluidkopfes anbringen, so kann das Klemmstlck mit
Fligelschraube, welches zur Anlenkung an den Fluidkopf dient,
versetzt werden. Dazu den Schwenkarm vom Fluidkopf abschrau-
ben, schwarze Plastikkappe mit Hilfe einer Minze oder eines
Schraubendrehers l6sen und entfernen; Klemmstiuck abnehmen,
umsetzen, Plastikkappe wieder einschrauben und festziehen.

@ -13-

sachtler



Benutzerinformation FSB 6

3.3

3.4

Nivellieren des Fluidkopfes

Schliel3en Sie die Vertikalbremse und sichern Sie die
Kamera mit einer Hand. Losen Sie die Klemmschale des
Fluidkopfes und richten Sie den Kopf so aus, daf} die
Luftblase der Libelle im schwarzen Kreis steht.
Klemmschale danach gut festziehen.

Beleuchtete Waserwaage (Libelle)

Der FSB 6 verfugt Uber eine selbstleuchtende Libelle, um
auch bei ungunstigen Lichtverhaltnissen leicht Nivellieren
zu konnen. Durch kraftiges Antippen der Libelle wird die
Beleuchtung aktiviert. Die Libelle leuchtet ca. 20 Sekunden.

Entnehmen und Einsetzen der Kamera(platte)

A. FSB 6 mit Side Load Kameraplatten Mechanismus
-> Schlielden Sie Horizontal- und Vertikalbremse.

-> Fassen Sie die Kameraplatte mit der einen Hand.

-> Offnen Sie die Klemmung der Kameraplatte.

-> Schieben Sie den roten Verriegelungshebel nach vorne.

-> Die Kamera(platte) ist jetzt frei und kann vom Fluidkopf
abgenommen werden.

-> Befestigen Sie die Kameraplatte an der Kamera.
Bitte beachten Sie die angegebene Pfeilrichtung unter-
halb der Skala bzw. auf der Bodenseite der
Kameraplatte, die die Richtung der Kameralinse anzeigt
(siehe auch Absatz 5.1 "Kameraplatten").

-> Die Kamera(platte) wird schrag (siehe Zeichnung,
Pfeil A) in die Aufnahme eingesetzt und dann nach
unten gedruckt (Pfeil B).

-> Dabei wird die Rastklaue uberdruckt, die horbar einra-
stet.

-> Die Kamera(platte) ist jetzt fallsicher eingelegt.

-> Klemmen Sie die Kameraplatte nach dem Einstellen
der Kamerabalance (siehe Absatz 3.4) fest.

-14- @

sachtler



FSB 6 Benutzerinformation

B. FSB 6 T mit Touch & Go Kamera-SchnellverschlufR
-> SchlieRen Sie Horizontal- und Vertikalbremse.
-> Fassen Sie die Kamera(platte) mit der einen Hand.

-> Verriegelungshebel mit Daumen und Zeigefinger der
anderen Hand greifen und den roten runden Sperrknopf
nach unten ziehen.

-> Verriegelungshebel bis zum linken Anschlag drucken
und dabei Kamera(platte) entnehmen.

-> Befestigen Sie die Kameraplatte ungefahr im
Schwerpunkt der Kamera.

-> Beim Wiederaufsetzen der Kamera(platte) verriegelt sie
sich automatisch und der Verriegelungshebel schnellt in
die Ausgangsposition zurlck (hérbares Einschnappen).

@ -15-

sachtler




Benutzerinformation FSB 6

3.5

Einstellen der Kamerabalance

->

Zur Einstellung der Kamerabalance ist es notwendig,
zuerst den Schwerpunkt der Kamera genau tber dem
Drehpunkt des Fluidkopfes zu zentrieren.

Aktivieren Sie die vertikale Bremse, stellen Sie den
Steuerring der vertikalen Dampfung auf Stellung “0”
und wéhlen Sie am Drehschalter der Kamerabalance-
einstellung ebenfalls die Stufe “0”.

Sichern Sie die Kamera mit einer Hand und |6sen Sie
die vertikale Bremse.

Sollte die Kamera front- oder hecklastig sein, |6sen Sie
die Klemmung der Kameraplatte/Balanceplatte (rote
Fligelschraube seitlich am Fluidkopf nach links drehen
und leicht 6ffnen; Kamera dabei weiter mit einer Hand
sichern) und zentrieren das Kameragewicht
(Vorschieben bei Hecklastigkeit - Zurtickschieben bei
Frontlastigkeit). Die Kamera sollte horizontal stehen-
bleiben.

Klemmen Sie die Kameraplatte/Balanceplatte, indem
Sie die rote Flugelschraube nach rechts drehen und
schlie3en.

Falls es Ihnen nicht gelingt die Kamera zu zentrieren,
lesen Sie bitte den Absatz 5.1 “Kameraplatten”.

Der Fluidkopf FSB 6 verfugt Uber einen zehnstufigen
Gewichtsausgleich. Wahlen Sie die Stufe, die lhre
Kamera am besten balanciert.

Das Anwahlen der niedrigeren Stufe wird sofort - bei
jedem Schwenkwinkel - aktiv.

Das Anwahlen der héheren Stufe wird erst aktiv, nach-
dem der Fluidkopf durch die Null-Lage geschwenkt
wird.

-16_ @

sachtler



FSB 6

Benutzerinformation

3.6

3.7

3.8

Einstellen der Dampfung

Der Fluidkopf FSB 6 verfugt horizontal und vertikal Uber je
drei Dampfungsstufen und eine Nullstellung. Durch Drehen
an den Steuerringen wird die Fluiddampfung ein- oder aus-
geschaltet. In der Nullstellung ist die Dampfung vollig
abgeschaltet. Die verschiedenen Einstellungen sind nur bei
geoffneter Horizontal- und Vertikalbremse spurbar.

Die Starke der Dampfung der entsprechenden Stufen ist in
horizontaler und vertikaler Richtung identisch. Somit sind
saubere, ruckfreie Diagonalbewegungen maoglich.

Einstellung nur auf voller Raststellung. Durch einen ersten
langsamen Schwenk rasten die Schaltstifte ein.

ACHTUNG:

Bei Lastschwenks zwischen den Raststellungen kdnnen
die Schaltstifte und/oder die Rastscheiben beschadigt
werden.

Bremsen

Die Horizontalbremse I0st die Klemmung fur horizontale
und die Vertikalbremse fur vertikale Schwenks. Beide
Bremsen konnen wahrend der Aufnahme vibrationsfrei
betatigt werden.

Austausch der Batterie

Im Batteriefach (siehe Abb. Seite 1) befindet sich eine han-
delsubliche Standard Knopfzelle vom

Typ CR 2032, 3 V.

Mit Hilfe eine spitzen Gegenstandes (Schraubenzieher

0. a.) offnen Sie dieses Fach. Vergewissern Sie sich,

dal die neuen Batterien entsprechend der plus” Kenn-
zeichnung des Batteriefaches eingelegt werden.

Eine Batterie reicht fur ca. 2000 Beleuchtungsvorgange.

sachtler



Benutzerinformation FSB 6

3.9 Transportstellung von Dampfung, Gewichtsausgleich
und Bremsen

Um die Leichtgéngigkeit der Steuerringe fiur die Da&mpfung
Uber die lange Lebensdauer eines Sachtler Fluidkopfes zu
erhalten, sollten vor und nach dem Dreh beide Steurringe von
Stellung “0” bis zur maximalen Dampfungsstufe durchge-
schalten werden.

Einstellungen wahrend des Transports: das Wichtigste ist,
beide Bremsen - horizontal und vertikal - zu l6sen.
Gewichtsausgleich und Dampfungen sollten jeweils auf
maximaler Stufe eingestellt sein.

3.10 Flachboden

Um den FSB 6 mit
Flachbodenanschluss
verwenden zu konnen,
muld der Gewindezapfen
entfernt werden.

-18- @

sachtler



FSB 6 Benutzerinformation

4 Technische Daten

Traglast-Bereich (abhangig von der Schwerpunkthéhe der Kamera)

[C.0.G. min.kg max.kg
(Schwerpunkthdhe in mm)
55 1,5 8,0
75 1,3 6,9
100 1,1 5,9
FSB 6 FSB6T
Dampfungsstufen: je 3 horizontal,  je 3 horizontal,
vertikal und 0 vertikal und 0
Neigebereich: +90°/-75° +90°/-70°
Temperaturbereich: - 40°C bis 60°C - 40°C bis 60°C
Gewicht: 2,6 kg 2,7 kg
Kameraplatte/
Verschiebebereich: 120 mm 60 mm
Kameraanschluf3: Kameraplatte mit Pin,

1/4“- und 3/8” Schraube

Stativanschlul3: 75 mm Halbkugel

Schwenkarm: ein Schwenkarm DV (#0992SP)
Rohr-/Griffdurchmesser 16 / 28 mm,
Lange 430 mm

@ -19_

sachtler



Benutzerinformation FSB 6

5. Zubehor

5.1 Kameraplatten

A. Sideload

Der Fluidkopf FSB 6 wird mit einer extra langen
Kamerplatte (Code Nr. 0164) geliefert. Diese beinhaltet
einen Fuhrungsschlitten mit einem Pin (der ein Verdrehen
der Kamera verhindert) und eine %2 Zoll Schraube. Dieser
FUhrungsschlitten kann im Schlitz der Kameraplatte auf
eine entsprechende Position - zum Ausgleich einer evtl.
Heck- bzw. Frontlastigkeit - verschoben werden.

Durch Festziehen der 1/4” Schraube im Gewinde am
Kameraboden bleibt die gewahlte Position erhalten.

Bitte beachten Sie dabei die Richtung der Kameralinse, die
mit einem Pfeil unterhalb der Skala, bzw. auf der
Unterseite der Kameraplatte angezeigt wird.

Falls Sie eine Kamera mit Stativadapterplatte verwenden,
bendtigen Sie ggfls. zur Montage der Kamera auf die
Kameraplatte eine 1/4” und eine 3/8” Schraube.

Entfernen Sie im diesem Fall den Fuhrungsschlitten durch
herausdrehen der 1/4” Schraube.

Nutzen Sie die 1/4” Schraube und die 3/8” Schraube
(“Parkposition” in der Top-Platte) zum Befestigen der
Kamera auf der Kameraplatte.

-20- @

sachtler



FSB 6

Benutzerinformation

5.2

B. Touch & Go

Der Fluidkopf FSB 6 T wird mit der Touch & Go Platte S
(Code Nr.0364) geliefert. Diese beinhaltet einen Pin, eine
1/4 Zoll Schraube und eine 3/8 Zoll Schraube. Das bedeu-
tet, die Kameraplatte kann sowohl mit der Pin - 1/4 Zoll
Schraube Kombination als auch mit der 1/4 Zoll - 3/8 Zoll
Schrauben Kombination genutzt werden.

Das nicht bendtigte Teil wir von der Platte abgeschraubt.
Ersatzkameraschrauben befinden sich in der
Balanceplatte.

Sollte Ihre Kamera nach dem Einstellen der
Kamerabalance (s. Punkt 3.4) immer noch stark heck- oder
frontlastig sein, so kann die C.O.G Platte DV (Code Nr.
1465) Abhilfe schaffen.

Bei dieser sind zwei Positionen zur Kameraaufnahme (um
ca. 44 bzw. 72 mm) nach vorne oder hinten versetzt. Sie
wird mit einer 1/4 Zoll Schraube und Pin geliefert.

Schwenkarme

Der Fluidkopf FSB 6 wird mit einem Schwenkarm geliefert.

@ -21 ]

sachtler



Benutzerinformation FSB 6

6 Inspektion & Pflege

Sachtler Fluidkopfe sollten gelegentlich mit fusselfreien Tuchern
abgewischt werden, um Staubablagerung zu entfernen. Bei
starkerer Verschmutzung kénnen Schmutzablagerungen mit
einer weichen Burste und mildem Reinigungsmittel entfernt
werden. Eine Inspektion nach Intervallen ist fur die Fluidkopfe
nicht vorgesehen.

7 Gewabhrleistung

Der Gewahrleistungsanspruch verfallt, wenn

-> der Fluidkopf unsachgemal3 und aullerhalb der spezifizier-
ten technischen Daten betrieben wurde oder

-> das Grundgehé&use von einer nicht autorisierten Service-
Stelle gedffnet wurde.

Technische Anderungen vorbehalten.

Bitte registrieren Sie sich unter www.sachtler.de, um einen
erweiterten Gewahrleistungszeitraum zu erhalten.

22 . %m

sachtler



FSB 6 Benutzerinformation

sachtler

‘k Sachtler™
A Vitec Group brand www.sachtler.com




